Linear Relations Lesson 3
Herickson’s new part time job offers a one-time bonus at the beginning of $30 and an hourly pay of $10 each hour.

Amy’s has a new job that just pays $15 per hour.

Make a table of values for both students.
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At what point  ( ___,  ____ ) 
do the lines intersect?

What does the intersection 

point represent?
________________________
________________________
What equation describes 

Herickson’s Earnings?

_______________ = ______

What equation describes 

Amy’ Earnings?

_______________ = _______
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You have a choice between 2 plumbers.

PLUMBER 1: Charges a flat fee at the beginning of $50 and 
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then $30 per hour.  

PLUMBER 2:  Charges just $55 per hour. 

Make a table of values for both students.

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	

	
	



At what point  ( ___,  ____ ) 
do the lines intersect?

What does the intersection 

point represent?
________________________
________________________
What equation describes 

Plumber 1’s Earnings?

_______________ = ______

What equation describes 

Plumber’s 2 Earnings?

_______________ = _______
